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¥ Juestion 8
A

Question 9

. .
Solve the d heth L T
olve equation to determine whether it is an identit
3(5x—2) = 1 15x — 6 entity, conditional or contradiction. Solve the equation to determine whether it is an identity, conditional or contradiction.

6x — 5 =30 +6(x - 5)
A \dentity r\.\.\..‘vhk_wn\—\_.\.\\_v A. Identity “L!\\hn\ < 2
B. Conditional ol (o \vL _N$. G B. Conditional
C. Contradiction § A.l@xc.\r LA ¢ contradiction
0\\. N Gufredidmie (D oL b

0{.\\ QSL\*‘QSQ\AI@\\\L\ s

\Asnj-

= , o
ISX - & = (5x-4 & = R e i) d ok |
[\

> 3 ; ) ,
LYo [ = ibtrsy e I Y
WA ) Pl — oue - s \\,\.\\(
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Solve ﬂs.m wncmzo: to determine whether it is an identity, conditional or \‘ k.\ Fm\\\.\
%47 T 3= 9941 el il d e b e \k.Wmu «e— 2 L Ml /S
A. Identity \Q\.b\hLﬁ\hT\“\\ < \»\%P\\% ™~ v @

B. Conditional \0\‘ \L \b T: \\.\,W A A @

C. Contradiction
Vb ) .\_\\Q\ﬁ. u\\\ﬁwh\x\

s> Al — o— )i 2aps
2(x-3) = s \ o =5+ 8 =1l

Question 10
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Question 1
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Question 2

o . =il % o o . Y 2
Simplify using real numbers and i - Simplify using real numbers and i.

N Va=r@i s

-\
7 . . o V.
A. -7i _ N N\ A 22 b&\\@/ &
AT B. -1242 :
C. +7 C. 122

D. 7 D. 618
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Simplify and write in the standard form of a complex number Simplify and write in the standard form of a complex number

-6-22i ¥
_ & ~=22L é 124++/-289 Y

— ol ¥
2 NV _——_— - — .
9 2 2 A 12+289i n&\\\
A 3-in2

B 3l S W .|\\NU B. 12+17i -YVk%

C. 12-17%

C. -4

\ -1k > V-259 = V2581 v

=¥

Question 6
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Simplify and write in the standard form of a complex number

J=361-+81 L, W
A. 9+19 &r\\

B. 10

c. -10i

D. -9+19




Question 9

Simplify and write in the standard form of a complex number
21

A W = 2.1 2>

~ A~ & v
B. —i ~+P}q\l\h\\m L\.\— pM.\t
C. -1

Question 10

1
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Simplify and write in the standard form of a complex number

er )Y
u>. 2 &{\.\\ \ N

5
=- "
878 L OV
g 3.3, N
% 8 8 P
.M-.flu._“
C '
D. 3.3
17 17

Simplify and write in the standard form of a complex number
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" SO e
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TS @ 9¢
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Perform the indicated operation.
(26 + 3i) — (12 - 6i)

A 42490 o M
B. 14-3i m&\\
Assessment -
Mathematics: Lesson12 D. —14-9i

2.9 lox Nuderss 1=
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Perform the indicated operation.

(6 +vV=8) + (8 —V=72)

. L\?\

it r_v&ﬁurl Perform the indicated operation.
%..\\ (8-3i)

i

[} E\"
A 14— 4iV5 Nh @ + .w\mb.rnu..ﬁ.mel E gt @,L\C. A 3+8i
. B. 3-8
L (G2 Do (54 65D -
C. 14+4/5 . ! i
D. 14-4iVZ “\\%Mw* NM.\M...,.R\MQN. D. -8+3i

-~

S 4 +z5) L




Question 5

] FedtiSiT¥ e i peTation. - /N Perform the indicated operation. )J
(O+70) = (2Z+70) +(9+20) - . §+mwM\+‘m.c
A 16+ 16i = (a ..N..,.ﬁu._.Pu...u...Mue A 76+ 52i .

.NI ‘l
%fm+wn. B. 40i 92i—4

H\m.TMN e

C. —4—94i =364+ 929% + 4o(-1)

C. -2-2i
B —4+92i

D. —2+2i . ﬂwm\ro\f.ﬁwM‘
= -4 +q2L

- P - - 1 — .
B b e i I AN A N S b i Bt B N A e e e

S i St TR T N R b S R e T L Y,
| B T R e e o £ T SR S e

= m“.fumww .TJWW.TNTDN\

2

Quesion & [ asion 4 S

\%
Perform the indicated operation. .V J R Perform the indicated operation.
2 . (3=50)+ (—4+70)
5—3i
A —-14+20

A -3
m B. 1+2i
m 5,3,
B. Stgi C. 7-12i
| s 3. .

G = + mn D. -2+ 3i

§ 3.
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riuestion 8

Question 9

Perform the indicated operation. X . :
" Perform the indicated operation. J
(2+5i)(3-2i) o

- 3 (2 + 50) 0)
A —4+11i Gma B+ /fvvv\

’ 5\ 2 &
B. 16-—19i " A 3+5E

3 13
C. —4-19 B. ¥t
D. 16+ 11 c wﬂlwﬂ
11 13
D M.Tﬂﬁ

Question 10

A 3 e R P L ek Sl il

ez &, }ML it el
W » /\w
Perform the indicated operation. —\f\\.f “\\ Perform the indicated operation. v ruw
f .
(3-30) A.ﬁqrt\w\\ (2+3V=8) b 1&

. (1-v-9) \ ,
\\ IWI.ML. =z ﬁN\.WImML mW\ NW\N Ta«m+9\mnum .

: \h\.m ) 5 S
B. 3-3i . (z+40) mw / €r 140VE | 3(VE-1)

" ' y ‘N\ B. 5 + 5 L
c 2-3i qQ =12t -9 ¢+12¢

92-1 |, 3-3vZ,
: Fi + g
. -3 A +16

H+o«m+u2ﬂs.

q-21r-12 _-3=21L_, T

Vi

-
] = -

25 2s

|
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Question 13

Perform the indicated operation.

A. 234 —585i
B. 825
C. 250-625i

D. —-250+ 625i

(2-50)1+ 211 -20)

perform the indicated operation. Give the answer in the standard form of a complex
number.

i(3 — 4i)?

& 24-7i 4 L I

B. —24+7i .{.\\ ¢ W

Yo
C. 24+25i

D. -—-24-25i

\/

! (a 241 +16%
e A4.1~¢m.|hmv
HmAuﬂﬂ\N¢wv

2.

U (2-41)

z 24 —Z1
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This a quadratic equation 4x? =7 — 3x ‘

\v« True

B. False

Assessment

Mathematics: Lesson13

mwmm mUprpL%A&&Mo. mﬂﬁ»mﬁw&am

A b <.

" =g
(R0 po) At Pz s2l2h) 2N
®

Question 2

| o

lﬁ__t\.‘\s:.M Dsbxﬂ ..Lm\ ﬁv_\miu’

gel

This is a quadratic mn_cm:o:m.m —2x=x+3

QR 7 ol o lf P

¢ True mnum QL_ lug.\..t.\b A, 20 -R2=x
B. False . i B. 2x-10=15
G.vurﬂﬁ KL/orz C.\.Qnr..b C. X +6=0

D. x+2=10

Which of the following is a quadratic equation?

0@ LA et s

S S o)yl



Question 5

T oot

Which quadratic equation is written in standard form?

S What are the factors of this quadratic equation? QL\E Pv\.._\h Pl
o) W s 2
A 8x+5x1-9=0 OJ\E\L_.“.\LL\. s 3420 > (X _4) (X + _v ﬁn%%, )
\‘ 5x' +8x-9=0 hﬂ\g‘: M‘\.\\‘\wfbn\”“ A (x+2(x-2)

A
C. 5x'+8x=9 ,\\ L QEE &@ n\t.\&\\r?r...\o 1S o

D. 9-8x-5x'=0 Coe-nx-9) > 2-2 fl\h_\mudh.vh\lrﬂu\;
i o (x=d)(x+1 ’ : ] o1 ’ -

ﬁ@x 4bX+C =0 . xl\hsm._u\mu AWllp FL =,

= 3 =/ V7= = |k

® (x-Olxen) B

nku..n—.b\.XlV»lI.

= xp3n-b gk

Pagel8

Question 6 Question 7

Pasnibing

AT A WA PRI IRED ey - i oo S W ULEY
/
Ta\C_. J Yt Sl »me . . . .
‘ Solve this quadratic equation by factoring.

sof a2 b/ 2 e 4120 =305 11 =) A po 2
\c.\\..\«z,r bt - 5x% ~44x+120 menmv —= 41t \\.E_ 2=

Solve this quadratic equation. — (o)
(4x+5)(x+1)=0 & \*X'Tm zo

St A e Al T Sy 2 20 430 U =o
B. x = Acw _ ‘Mu “UQCE_ Q B. x={-6.-5} o
e -Tm ; XK= — c. *=1{6.-5} .mx JWMXL._WQ - a
B el ) X y|=0 B, =8 a=5- b=-Ss c—- |se
B Y Fa—|
Xozz o "

\



Question 9

@« —> -
A x={24,-1) @ , " Vﬁ |_0X 4 MP_. =0
n e
B. x={-4,-6
v X = Tn\? c=2z4
C knmh.@w
D. * = {1.24}

Question 10

S o s B T
P A € N 5 % Salon b
e L E s

RSN Ty
o b i

P

e L

Evaluate G.r\t\k

(8-3i)(3+2i)
A. 55

D

B. 73+ 48i

C. 55+48i

D. 73

Solve this quadratic equation by factoring.
(x+4)'-25=0

A x={-1}

Y

t\v\.
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The equation x2 = 121 has ...Lur“.w’ > DX;P.LuX +Czo

A. 1real solution |k.w\.: ﬁ.?C, %hmn..\..fs_.gﬂ.u

B. 2imaginary solutions MU N\ Nw dc \k&
C. No solution e p\

o

I Saep B P

Assessment

D. 2real solutions

KWL & ..is&_r&\u or| ! rea) seddatl] 2 el vo_a.ﬂ:
& Ug /.w\ 0‘:\.\3@« Sdlutity ~ ) L\.; \r\b.\..m..b o S
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~ r..wl\\\_\nx\;
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Mathematics: Lesson14
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Question 2

P«....P.f.llli.{»lﬂftl G L L B

uationx? — 18 = o =| b=o ﬂ‘mnlhm. he equation x% + 20 = 4 ha F
The equation x% — 18 = 0 has —_— ) The equat + s Q&B_ﬂb_\.\.ﬂm\m\h‘\i\m
A 2 real solutions X L..\\‘\\\E A. 1real solution . : —

B. 1realsolution \.rﬂ: - &U .m. bac = B. 2real solutions f?.ab E 1 sl ﬂ\& — @
C. 2imaginary solutions g - C. 2imaginary solutions el & < AKMW nbw\bba m
i = \Q\ i N\x A\ ?m.w MNN. D. No solution o T - -, L (el
D. Nosolution N _\{Qk‘ ( _ “ \\P‘ ﬁﬂu

e | = 2=
Y AN, L) zr&&\vi\% s @M . .

r kil pro yo

Ah\\ﬁ\
{ \%\\.%11\%5%1




Question 5

R s e e vl i e o s wa S, 5
— - ao e s e T

m_:a the value of ‘c’ that will complete the s f
X2 4 12x 4 ¢ v % quare of the following quadratic polynomial. Find the value of ‘c’ that will allow this polynomial to be written as a perfect square.
ﬁ N\L\U -_:\.: \ u x2—Tx+c

e ﬁwh.h.QL n..uit?ﬁ.L_bU ) x = b=-7 e <cll

o 12 Aoy ..

- ——
= 36 -\ 2 SAodie o .M%\C B, -% b =
g1

va\ﬁ_ N\\CRM.VCL\ et | - S frr e
- m”u.fQ@M._.@ 'y ot g
ooy L9xbxre ]l oad Lol = (32)=(D= %

R A ‘..‘r..v,. ,...I,,\,,_. . G...,.... PRI ....:‘...w.,..:.w.._. aw,l.‘l.".‘. vy .%'.n...r......v. s ; .n..h.. L.._‘ .h:.ln. D \.a.y o i ‘.l.. porarbet o arw . Jracmicariig #XS . 4

K Use the square root property to solve this quadratic equation
(x+4) =25

Use the square root property to solve this quadratic equation.
x-4=0

A 2 2 X EE\\S&\\\&; oAl ase ),V
B. {4,-4) @ B. {-29} \
QXQXM = C. {-9.1}

C. {2,-2}

D. {1,-1} D. {1}



E

Use the square root property to solve this quadratic equation Solve this quadratic equation by completing the square.

(x-1)'=-12 ,.v\f\W x*—4x=5

A, -1£2iJ3 ’ . A (L7}

B. -l 1 WV B.  {173-1.73
/vav

C. 33 \ G ﬁm.l;

D. 11 2i3 D. m_.wv

Page22

Solve this quadratic equation by completing the square.
x2-14x =0

A {0,14)
B. 49
C. 7

D. {-14,0}



Question 1

The equation x* =9 has

A. 1real solution

B. 1imaginary solution

C. 2imaginary solutions

Assessment

\R 2 real solutions
Mathematics: Lesson15

2.3 %Sgo—«.&r.o
m\gﬂv@

Question 2

Page23

I
The equation x*—4x+4=0 has 2 t\ ¢ \f“kl\\ c b If @+bx+c=0, then which of the following formulas correctly states the nomm._c_m value of

x?
X..\p real solution N T 7TY Lf\
B. 2real solutions - /.uv ﬁg& GV./ IVT

B. =bt Lo + 4ac
C. 2imaginary solutions T MU

=b+~b?-4ac m\b&.
— 2o _ -~ & e
D. 1imaginary solution f N\ O\
ginary D. b#~b'-4ac % -

— 2a



o g b Lz, R

When will a quadratic equation have two different complex roots?

A. When the discriminant is positive

%\ When the discriminant is negative

C. When the discriminant is zero

D. Will never have complex number roots

4

\t
A

\

Question 6

B
w.. 7 e = B st R

—

¥

\
D=t p e o

ufurt T.UW\\«U.(\ 20 =-10x-7
—
M\ D

#

Use the quadratic formula to solve the following equation " .b»/\v.

~10+ V11
A. 2

\LE -5+39

w

2

-5+11
C. :

D,

-5+ M1

o

153 &l )

e, T i e L R o T I L Y

Use the quadratic formula to solve the following equation

C+x+4=0
1+i-/15
>. \.ﬂHIlﬁlm...|
B 1+ /15
= A T
—1+i/15
n.xulr.n]il
U. .N"I_Nl\_lm

Use the discriminant to determine the type of the solution for

2 +8x+16=

0

\& 1 rational solution

B. 2 complex solutions

C. 2irrational solutions

D. 2rational solutions

fvmm.\ﬁw\\ﬂ.\_,\m\\¢tnrv
.\,

.n.r...\

»\,_&nc_

o=zl  b=3 c= 1€
w.\:.\.wPL.an
- nmbu... 4 ()U)=0

= one red solubion
wm.g%\



Find the discriminant value for Use the quadratic formula to solve this quadratic equation:
x2+10x+25=0 X2 =0—4x

A. -200 A x=-1:13

B. 200 ' B. x=—2+213

C. 100 C x=-2:13

D. 0 D. x=2+V13

Question 10

e e

Use the quadratic formula to solve this quadratic equation.

¥-12=x
A {-3.4}
B. {112}
C. {3.4}

D. {-3,-4}

Page25
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Assessment

Ifx < yandz > 0 then

A xz>yz

B xz<yz
C xz2=2yz

D xz<yz
Mathematics: Lesson16

~

S\ =Ll oy =iy

X =t =Lis flo

e
rm\_\%%r\mkbﬁlzﬂ & o )z &t m,
Question 2
Mﬁwa Af el 2 <o R EX—-BX > 25+I7

2. 4 H\-@WQQ\\&\@\ =Ll

B i<t o B = %A. "X z42 W=



fy ¥

Solve I2m-1)<dm+7

Question 6

L R
w\-..l..!lr.lrﬁ oot

Solve S+11>5x-x

A.

B.

G

D. «

x<l]

x<4

Solve X ._i2

A

B.

o

D.

=3

>4

x<36

x<4

x>36

A.

B.

C.

D.

A Y 45V

a
Solve —6(x—

x<2

x>4

x<4

x>2

Page27



Yiuestion 8

Question 9
Solve Z2X 5 15 _ 4,
i Solve _3x-5522
A am_uuF Al x<-9
B. xs32 B. x>=-9
11
n P.V—Icl C. x<-9
T3
D uvmb D. x> 9

Question 10

e i ST S A

Solve IMMMN 24 p“.\\“
—_— Cﬁv
\\\ x<6
B. xx6
C. x=220
D x>72

Page28
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Assessment

Mathematics: Lessonl17

e i M ks s ARSI 90 AN SRR =

Question1 -

Express the inequalities in interval :oﬁzo.: x>2 <. .W
< J

A (-=.2) mﬁxﬁ¢ —RL———y O

B. (2.4)

o Alﬂ.mv

=)

Page29

Express the inequalities in interval notation -1<x<4

x [

B.

C.

D.

(-14]
[-1.4]
[-1.4]

£ J
o ] o — <

NPrer ) e <

pro S FSE
Which interval notation represents the set of all numbers from 2 through 7 inclusive?
A Q) 22X <L/
B. (2.7]
& [27]

D. [2.7)



Question 9

Solve the following compound inequality and choose the correct answer:

—-19<3x-4<5
-{q < 3X-u4<S
@ﬁﬂ L > &)

A -26<x <=2

A5 <x<3
3
C.-18<x<6 —q+p < 2K <Sx%
D.-9<x<3 15 < IK LKA
e x <« L
=

- L X <=z

m 9 0 LI G A B ey gy B < o i B e A AT R e e e et Bl L e 7L i

Which compound inequality represents the following graph

[

1 . ,Vu/\w.

8

-2<x<4

—4<x<2

—4<x<2

-4<x<2

-4

1 L
2 L\‘\

Page30

Write an inequality to describe the region represented on the number line below

C >
-1 0 1 2
A —1=<x<2
B -1<x<2 = mﬂa X A 2
C -1<x>2

% -12x<2

Choose the best inequalitv that best describes the graph below

- 0o - co
4 0 H 2 4
A, 2525(Lx+3) s
B. 5(2x+3)>25 u-QOR X mu \
C. 5(2x+3)<25 o~ e - \ e b
o besto Sl y e et




1

|

Choose the correct graph that best describes the solution of the following inequality Solve this quadratic inequality

5<x+13<19 9-x2<0
x =-4 =
e _— A. (—o,—3)and (3,0) —>
‘ _ w = Y =
-20 -18 0 6 i B. (-3,3)

L

e

C. No real number solutions

\

2

Question 19

2

A PN\ e P >
AN TPV s ) 2

ﬂph,.u\_\maln“é...ﬁn.\

Solve this quadratic inequality
¥ +6x-4550

&ImeMw

B. (-5,3) . . .
.\_.—.fni\ih\.\vna\_

ﬁu. |WMMMM ’ i i -
o 2R V) e ;I Ciap -\

D. [-3,5] e

\<§@\@Arez(v£v, 1

© &=2,

K= B> ZD+6(5)-45=0 o l
(o2t pozs)

X=-5 2 -~ 1
=% 3(-S)48(-5)-45z0  (55) @

Q

o

(-573) < @L. —> &

-5 3

&=2 S A

2 (0% £60) - US=—HS o
(po85 8
s =80 > °

2

32(5) +6¢s) -



Question 1

x=F= |22F-1l[=]3]=3

g & l2x-11]=3 nass
O@@x @ e * a-F 12:¢P-1] =|-2=3142

ALES )

C 44 M= ﬂ s— Aas"

_u.ﬁ,b .W‘
X\W /\\ : XH£I|W.~M.N~I:\H\|M\WIW
2.5 Absel a Sondl
Guitins & Tnqualdes

ﬂw&kw&\_h\krﬂ\\(\\ ¥

- cuesions SR e S S R WCET
Aok S S R R S L S SRR L R i L e S e o

z o ._i e

| lee csidtule b

A\Qﬁ\ksﬂﬁ\v A (-1.7) : -
\(&\\L_}.\S. ps B. {-17)

C. -1

B. {4-7

Assessment

Mathematics: Lesson19

A {026}
. {io-10}
c. f2-10

_ D. -7}
7 D. ({26.-26}



Question 5

| SE

|F4-xl=2 &.\\b\?\v =5|x|+45=10
A {-6.6}

A. No Solution

s - P 3 o A » g
Fa-(‘u. by e SR e s Ll W B\ i NS Rt i S el e R e R e . e L o |

B. {6.2}

c. {6.-6}

B. 11

C. 7

D. {-6.-2} D. -1,




\wm:.o: 8

Question 9

|I5x—10] =2 =13 s

|2x-(4x-4)|=5 => _ 2X ~4X + &.h =S

A. {-5.-1} 19
B. {51} \ MHMMW \ - 2%+ 4 N = 5
C. No Solution . MMMWW —~2 XA+ 4 =+ =y
C 37 -
D. {-1.5} 1 9
0. {33

~IX+4=5 -z2x +4 =-S5
- X = 4

Page34

Question 10

e e e L % m
B s R A SR e L T S A R S il e 2 Lt N =z ) .M\I
x+1]=x+5 = x+ 5 =T (2X+1)

A (2.4} X+Sz2xX+l | X+S=-2xX-I ’ W?@(
! e \ o 7
I -2X+X=1~-G X4+2X = —1-=S

ren o am TRZ gl sk = -6 ar”




Mathematics: Lesson20

AT @ aubdsoly REE VLK P ' a3 = Ocmmzoz 1
\ T 2
CN =

Assessment

Rewrite this absolute value inequality as a compound inequality
B+4x|<15

' > gy
A 15<3+4x<15 \\F&.V\

[X | <
> -kgx <

B. —-1523+4x<15
C -15<3+4x215

D. -15<3+44x<15

o Q0
— =4 Mwuw m,

Solve |3 — x| < 10
p. ﬁlﬂ- .NU
B. (—13,13)

# (-7.13)

D. (-13,7)

_WIKTA\O Solve [x — 5| = 48 “..IV X\WV# or ﬁ\(\\\h.\Jh\MbIb

7
||..\.WV .\\QAW - X A(\Q x<-lorx>1 X _ m < \N.-. _Uﬁ— V F
m\U L 7 \rw x<-9o0rx>9 - Lkl > e
‘\O\WA‘ x - x<9o0r=-1 \.ﬂVX\WV X\“n.\ll\ln—-
s <K <T K | Lap| efFarK or
| @ @ Xy 445 K< ~4«+5 X <~ K p)
\N x < |

_z <X <Iz




Question 5

solve [x + 3| < 1@

A (-13,13)
B. (-7,13)
C. (-7.7)

D. (-13,7)

AT ot s 7 2% T i =
G0 s e e i AL B AL e Rt

wh

4 R e e O e L Lot

[ > @

Solve 15 — 3|5x —=6| = —9 - W.~ WX\ m~ V\ - \.w od Lo
A [~28,04] L g_\ >3
B. [-28,2.9] -24

sx -6l L —

C. [-0.4,0.4]

D. [~0.4,2.8] [ sx~ m\ < %

Question 7

i

Solve |2x + 4| +4 <8
rnl.lllll'@

\KLARAQ

B. x<—4o0orx>0

5
L ——<x<4
C 2 x

D. x<0

2 0| < 4

Solve 2x + 2| <9 EL\P\F

11 7

A. |ﬂARAM
7

B. 9<x<=
2

7 11

C MAHAqml

7

D. RAM




’l\l @ -
Solve |3x + 2| —3 > 1 | 3%+ M_ > Y
A —7=>xo0or2<x _ -1 < | & \ A ﬁlm.w
.

Question 9 .
§ , i _ ‘

S U ﬁ\xr‘ I 5w ~4>3X+27 K P

C-7<xo0r29<x

3
¥ 2 M
D.—-7<x<29 5 TSWScm.SV r\\P\\Y\

[ > ] \
= X»e L ~A%S a=tnl 44

rﬁwﬁ‘@‘.tu&!ﬁi..!wfﬁnr‘qu;».lz\-_&..ﬂ.&.&f:: R0 st & - bl A AN AL E Y LY o b i it o v o e e R o et &

Solve |6 — 3x| < —12 £ .n\-“_“\ @ \R\ A \A L “.w

A [-2.2] th\P\ @ \uﬁ— V K &2 u.lw XV\A or X.AF

K< x < K



Question 1

Solve —[16x —32|= 48 &\\\ Il
A —5=x=<-1

B. x<—-5and x= -1

' FRIBAH UNIVERSITY C“ dabdanlsy w

ch@

Assessment

Mathematics: Lesson21

C. x=-5

D. @

<4
A
W\ Yt ade Dok Lt pel,

Page38

Question 3

Fuh,.»..\gx.u.ww., g B S S 3 O TR RSN U MU B ARt o 1o . ” 2 m w : ;
okt Sl 1 it Mgl <o 2 g s vl e £ e SR VRGN b be ety SN A B et et T A B s 2 S i S L e vesateesin

~ T

Solve —[24x|-20252 \; 24 X \ B £2 Solve; |2<a a_m 1o
Ao L— & (_ gw 5 xCI A 4 -
B. (-=.-3] B. (—0,0)
[24x] <-72
C [3.=) », C. -32<x<8

D. (=o3]V[-3.) Q D. —32>x3>8

—

=



Question 1

T

2 ” : “ 7 el
S . ol T el S 2 v %
% A A A il -

e e e s e Sk e . B 3t oo Al A

A. -5<x< -1

,\

C. X295 _ ANQ

D. @ e

B. x<—-5and x= -1

Page39



lx-3]-152 -6

Question 5

B. x<—6 or x=12 HP\V/ r A S \v

C. ﬁIOD. Dov

oo
3> S

Question 6

s e SN % < oo . B Ping A
R £ s i, A e o y
W..b. il 5 A S S A BRI WP el o et p A i $ Y.

Solve _x+__o_|aom =35
L—s @

A0
B. (—o0, @)
C.x<-15 or x=z -5

D. -15<x< -5

\
Solve [2x{-18>-12 0 OV
—I\\\v @ .
A O
B. x<—3 or x>3
C. 3<x<3

D.x<-3

Solve —|x+11|-25<10

A ¢

L—> &

B. x<-46
C. (—o0,00)

D. -24<x<24

= -lz+tt|gdo+2s
~lx+)) = 35

|+t | 2 -3

e

o

<



Question 9

Solve |4x+13/<-24

A

11
x> —

4
AIB..‘.BV
¢

X € =——

Question 10

Solve |12x|-6<-42

>

®

- (~=.3]u[-3.%)

(=0, oov
[-3.=)
0

9+|x-2|<8

A. x<lorxz3

B. I<x<3
C. 9

D. (~, %)
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